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on the 'influence of the leadership
styles of the head of the institutioﬁs
on the adjustment of their students'.
The 'adjustment of students'in this
study means ..........s.0 )

(1) dependence |

(2) independence”

(3) interference

(4) intervention

| B DTGNS Soige eammw_@am
Dm0 SEEPED P (BEF50" & etyotixto
DEETOTE. V1 EOKN08” DT

(1) S50
(2) S

3) &%
(4) (ERo0w
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PART-I
CHILD DEVELOPMENT AND PEDAGOGY b i Q.
Concept of 'developme,.ntal tasks' | 3. Modifications i;}_-tl_;e exi‘sfiin',_g';schema
- was first introduced by ....... | in response to new infoi‘mation and
(1) Elizabeth Hurlock experience is called ...... Lt d
(2) Sigmund Freud - (1) assimilation '_
(3) Piaget '(2) accommodation
(4) Robert Havighurst @) metacognition
. (4) megaschema
DT GTE’ PSSR0 Bosey [ DD
- ‘ SPES SEPT0, emweg: @@5_)0@6“‘
"""" SO0 B SO o enin
(1) b irTE (1;%%55”0 , - ‘r‘
(2) 2ol Proxné A
: i (2), esnienge
(3) wours
@) oufofndS 2 il
s S (4) a:.:éab:m L
An educationist conducted a study | 4 A student of class V asked his

classmate not to copy in the
examination as he will be punished
if caught by the 1nv1g11ator Th1s

" demonstrates the followmg level'of

moral judgment of Kohlberg.
(1) Preconventional

(2) Conventional ‘

3) Postgon\%éntional.

(4) Unconventional

BN V D 50585806 963083 23
o3 SBE° b T B9 Si¥ergod
. qb&‘&ﬁmawag».aw@w:s
54 3P0 BPDKOD Luveibuvdienenn
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‘(3) Culturally oriented tent

(3 iy, Yo DSy 38y

.one of the following tests.

.(2) Rating scales

80 28506 508 ety aiSSR0NRS.
(1) g
(3 FBseo

7 _"ﬁévélopxﬁent of a three-year-old
" child is delayed due to lack of
- nutritious

- (8) genetical «

| Fapisiie g wamb Sogpe
FSAROY, D Ded’ s 20R0. B

(3) wagRRsd

_.One of the foﬂdwing tests assesses | 8,
the intelligence accurately.

(1). Culture free test
(2) Culture fair test

(4)? Culture lag test

308 858" (e Ko So80D Sha.
(1), 30,90 B 58y ‘

(2) e ® a"so‘iﬁe S0

_(4) S0y, Jam-ocsso;'_;ég

Ambiguous stimuli are present in
(1) Projective

(3) Inventories

(4) Nonprojective

() v

@ eoSEs .

‘ food. The “factor
responsible for this developmental-
delayis .......ccco....

(1) environment-
(2) heredity

(4) heredity and environment

DS EPEPGIR ST D c.vvvvvvvvrnnes
(2) esssodss ©

(4) 090D, HosTRe
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Laxman got an opportunify to work
in the USA which he likes most, but
is not able to decide to work as he
has to leave his aged parents alone.

The conflict Laxman is facing is ......

(1) Approach—Approach

(2) Avoidance-Avoidance
(3) Approach—Avoidance

~ (4) Double approach

o550 ax0.8.0.6° T dodmd gl
&&grissiso ofodod. T HHEaewowd
BDEO(ERIS0 2,00 RO EEYTIE DF,
S @D DBewewoS'BE HFair. oy
Nty b@%ﬁoﬁ@ ................ . ;
(1) SSmaseasiss  (2) SERo-0s

(3) &wrteo-s08  (4) B

‘Ramu's handwriting is good H1s

performance is average in-
Mathematics. Overall, his
performance is good when compared
to his classmates. This example

*. talks about this type of individual

difference. _

(1) intra-individual difference

(2) inter-individual difference

(3) both intra- and inter-individual
difference .

(4) interfering individual dlfference

T SOTH ePoowed. Nedves® eBd
DS ieaT G0B. B WERIed
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Besiysod.
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"(4) intelligence classification

Qi oy
(@) ep G

‘Choose the most effective

(2) Sustained extrinsic motivation

(4) Sustained or unsustained

Daniel Goleman popularized this
concept. |
(1) multiple intelligence
(2) intelligence quotient

3) eniotional intelligence

BAE AE0S & P @a»cso Do,
(1) 2% g
(2) Beged)

motivation from the following.

(1) Sustained intrinsic motivation

(3) Sustained or unsustained

 intrinsic motivation

extrinsic motivation

200 TIE° LBED HEFSSOER B
ool
(533005 ol (Boes

() s einyoies

(3) o35 B sl evoustss Boses
(@) 5355 B ol i s
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12. Following the traffic sigr:;als ai.lch'as

13.

red, green and orange are related to
this typé of learﬁng theory.

(1) Insight .

(2) Discovery

3 Condit@oning

(4) Programmed conditioning

DY, esaisis, oot koS scfren
Dedotson Ba CERRS g Drooeds
o890,

(1) eouBipe

(2) &%t

(3 Qeoisse

(4) @ duogsso

One of the following approaches is
suitable for solving a problem
innovatively.

(1) Classical conditioning

(2) Operant conditioniﬁg

(3) Trial and error

(4) Gestalt

0 T3 :mrq,om Bsg0
15035, BP0 eSS0 SIS0,
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(2) T deazsso
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One of the following is correct with
regards to the constructive
approach. .

(1) Learner constructs his own

knowledge based on his

. ‘experiences

(2) Teacher constructs the
knowledge and gives it to the
learner in a sequential manner

(3) Learner constructs knowledge
that is liked by elders and
benefitting to the society .

(4) Learner constructs his own
knowledge strictly on the basis

of regular classroom instructjon

QTYETGS ASIPIE Sorcfod 308 T3Sk
S0,

(1) mmmwsﬁwqoﬁa

) VORI
(2) eSranyetinntis ) 0D ersssds
| B 806 o) et
(3) oo WG, PSPPI SBBMS

) OSSO DO

(A ASonigRon BEKO 558 (DosoEm
RGNS s_p‘b ' te;a':b |

- IR0

One of the .limitations of

programmed learningis......

(1) self-paced learning

(2) immediate feedback

(3) chance factor in choosing the
correct answer

(4) keeps the learner active

- (1) Somonses egisse
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(2) SO PR
(3) B0 HAIEFS0 dohis’ essevs o

(4) eogrgssod) SR Sotosood

‘students'is
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16. The statement you would agree
“with 'the teacher knowing the

socioeconomic background of the

(1) not required as it amounts to
the interference of the teacher
into a student's private life

(2) required as it helps in better
understandingof the students

(3) should not be allowed to know
the status as economically poor
students may develop a
negative attitude towards
children . .

(4) not supposed as teachers may
treat students differently

(1) Demgpe B3 £D806" aderoiod
£7550 D000 K90 eisistio 8
(g} RSN O 000 e oo
" B08'e0d 90 Seprancd e
esto
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18.

|19

(1) bilateral '
3 negative

A child whio learned to pronounce

'but’ has later oh pronounced ‘put’ |
in the same way. The type of |

transfer of learning here is ........ |
(2) positive

(4) zero

0265 (but) 2 éiﬁoéo:ﬁaoﬁ&b&;’gl .awef.a
Bt oEHE 195 (put) d B,
B4 Bottol® egifss wisoraned 50 ...

(1) Bgrtss Q) T8
B porpny  (4) W
Overlearning leads to

(1) enhancement of memory

(2) confusion

(3) less retention
(4) loss of memory

- oD eighito B3 POBRD ...

(1) 158D Bowomed
(2) Solpe

(3) BB T

(@) ByBosieie

According to Vygotsky, children
speak to themselves ........

(1) as they fear adults

(2) for self-guidance

(3) to gain self-confidence

" (4) asa practice before speakmg to

others

ISl ETte bow 08 oo

SUR S R E S S—— |

- (1) oo giowo

(2 ot BRSNS

(3) &8 dwgdo ﬁocsms‘o

(4) goted wwcz:eag: mocs: g
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20. Organizing effective learningin the
: followmg schools is a challenging

task

" (1) Sainikschools

(2) Inclusive schools. .

| (3) Play schdoljs

(4) Special sc_hooIs_ for hearing

-impaired

2o ﬁﬁée‘eé’s (BeTRSoBR0 eaﬁsrom:)a

| tgrento L Smesd ErES 9.

(1) P78
(2) BDPB FSTVS

3) S

@ 203a 6% SORS avaéaoa:s @ésg

See

; In a group of _boys and gi:rls‘ who are

equal in all other aspects except

_gender, the learning of girls was

miore. Here, the learning factor

(1) personal

(2) environmental

(3) material

(4) interest

DolioS® &5y JoNee e PRS0
BATSRI &) erestd s Saarired®,
w%eé_‘ esé;SS:’a‘é_o oRforr &ol. 35,8

(1) wdre
(2) “ORTEHE
(3) Frex
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One of the following leadership
styles of a teacher is appropriate for
creating a nonthreatening learning
environment.

(1) Laisez faire

(2) Participative

(3) Charismatic

(4) Autocratic

DOOOHOOED  efsd  TBBEPY
DROWH  SDAIE  geassod
TOs 3D BB,

(1) Sro

(2) grrRgog

(3) essgrdaw

(4) dowowy

One of the following enhances
learning.

(1) Learning for earning

(2) Learning for rewards

(3) Learning for examinations

(4) Learning to learn

200 T 153 RIS DoProliacd.
(1) e g% g%

(@ wxmosstoe Stio etione

(3) “85e S%0 oo

(4) JinpShatsoshse egigsse

Teaching should be a planned
activity for
(1) untrained teachers

(2) trained teachers

(3) newly recruited teachers
(4) all teachers

D05%se 5755 25 om0l B o sod.
(1) 238080 aomahoen

(2) 3ZBITS Garergctions

(3) S DAWIREIGS ARG

(4 eoorEoostr

........
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25.

26.
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The objective of ‘inclusive

education'is ..........

(1) to protect the orthopaedically
disabled children |

(2) tofulfil the needs of the mentally
retarded children

(3) to fulfil the needs of all special
children

(4) to fulfil the needs of all children

(1) ealiSSedd SOAS Do tiowto

(2) 2oSFeSe SOAS Doo wSdTreR
B0

(3) BBy ensistren SDAS bewotd essored
B0 E

(49 2e0otd essores B o

Formulating the specific
instructional objectives and writing
them properly in behavioral terms
1s part of this teaching phase.

(1) Implement'atiop phase

(2) Pre:ictive phase

(3) Interactive phase

(4) Postactive phase

DR ETT O EPPoBOHE™, T
SO SRS eoTe Ersed’ sandsem
TIONER’ eIl 4 BRsessSt .
(1) esobes &%
() Sy s
(3) st g &35
4) Sedguess
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Conducting of annual examinations

(1) assessment for learning

(2) comprehensive evaluation

- (3) assessment of learning

28.
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(4) criterion referenced evaluation

(1) egissvo §%0 oY)

(2) Sfsarerpsso

(3) etgsssacy

(4) QPO (SEres MRS Barerosse
According to the RTE Act, 2009, no
child admitted in a school shall be
held back in any class or expelled
from school till the completibn of\,....
(1) primary education

(2) upper primary education

(3) secondary education

(4) elementary education
Dy, Beo 2009 (BsSe, FETOS

Sy O BERPERT L4 DTGP PP

SO0 EID5% 20D oiiomh pa e
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29 A teacher tried to mculcate the

30,

habit of appreciation tpwards nature

- among the students. The learning

domain related hereis ........

(1) affective 7

(2) cognitive

(3) psychomotor

(4) conative 3

Dcs"stigeaess @B%S t.’)%o?ooﬁ Someasiso

USBIEPAS SOTPOIE (HOHSHOTE.

50 51 3555 SomALBOLRODD ........ y

(19 T35

(2) Sogrs

(3) SFRE=DoTgk

(4) Bourss

According to NCF-2005, the

association of learning with fear,

discipline and stress rather than

enjoyment and satisfaction .......

(1) leads to disciplined learning

@) is detrimental to learning

(3) keeps students alert during the
process of learmng s

(4) makes them face any stressful
situation

 ebos SErEos-2005 S50 wdoio,

2008 KHEHEeB ... _
(1) ESBEerSDBIS g8

TObRed |
() g8 ettt
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62.

' 63.

64.

W-101/TET-111-EM/TM

Raghu, a friendly and lovely boy,
plays piano very well. Identify the
adjectives in the above sentence.

(1) lovely, well

(2 friendly, lovely, well
(3) friendly, lovely
(4). friendly, very, well -

Match the phrases given on the left
with the 'sea' wprds given on the
right. Then choose the correct
answer. :
p) seaweed

‘a) the land at the
bottom of the sea
b) land along the q) seafood
edge of the sea '
¢) plantsgrowing 1) seabed
in the sea -
d) fish and fish-like s) seashore
animals from
the sea
(1) a-s; - b—p; c-r; d-—g
(@ a-r; b-p; c—g) d=s
@B a-q b-r; c-p;l d-s
4a-r; b-s; e-pp d-gq

Identify the word that occurs only
in theé plural. ‘

(1) glasses

(2) clothes

(3) - potatoes

(4) tools

What would you say in a hotel when

you have to wake up early for an

important meeting?

(1) Could I have a call at 6 a.m.,
please" :

(2 Can I ask you to call me at
6 a.m., please?

(3) May I have a call at 6 a.m.?

(4) ShallI have acall at 6 a.m.?

65.

Identify the part of the sentence th,at.
has anerror. The parts are labelled
asa,b,candd.

‘Would you / follow me / wherever /

(@ (b) ©
I.would go?
(d) _
O @ @ o)
® © (4).(d)

66.

67.

Identify the set of words containing
only insects.

(1) bee, ant, hare, fly :

(2) ant, bee, moped, butterfly
(3) ant, bee, ladybird, butterfly
(4) bee, butterfly, owl, ant

There is a word in the sentence
whose letters, when rearranged, will
give you the name of a part of your
body. Identify that word.

'T think all this rough play on the
hockey field will mar the image of

the game!' _
(1) image (2) mar
(3) game (4) rough
I don't like those bangles; ....... , they

68.

69.

70.

~ (3) 1do too.

14

are too expensive.

Identify the correct optlon to fill in
the blank.

(1) besides (2) beside
(3) apartfrom (4) in addition "
Heis arriving ............ the 3.15 train.

Choose the correct preposition to fill
in the blank.

(¥ in @) oni
(3) with (4) to
A : I don't like cucumbers.
B:.ionn..

Ident1fy the grammatmally correct
response of 'B'.

(19 Neither I do. (2) I don't either.
(4) I nor do.



71 'How do people learn languages?' | 76.

; " The passwe form of the above-
sentence is ..........
. (1) How are languages learnt by
people?
(2) How were languages learnt?
(3 Languages are learnt by people
how?

(4) How are languages learnt? - - 77,

72. Tomorrow, thereis a meetinginour |
'school. Come early, ....... ?

Choose the question tag to complete
the sentence.
(1) do you (2) don't you
(3) will you (4) won't you
73.. 'Salim said, "Prem isill."
i, The reported form of the above
.~ sentence1s .....

(1) Salim said that Prem was ill.
i: (2) Salim told that Prem wasill.

- (3) Salim said me that Prem was ilL 78.

(4) Salim said me Prem was ilL.

74. Two people were injured in an
accident and they were taken to ........

- “'"Identify the correct eoption to
complete the sentence;
(1) a hospital
(3) the hospital (4) hospital

75. . I go out less.than'I used to.

.The above sentence can also be |,
_written without changing the
meaning as .......... '

(1) Tgooutas many times as I used | gp.

to.
(2) I don't go out as much as I used
- to.
. @, I used to go out as much as I do
R now.
(4) T go out at least as much as I
used to.

W-101/TET-111-EM/TM (15]

(2) an hospital 79.

BOOKLET @
Tom and Bill are ........... .. friends.

Choose the correg:t option to fill in
the blank. '

(1) not longer

(2) no more

(3) no longer

(4) not any much

Identify the correct order of the parts
of the sentence (a, b, ¢, d and e) given
below.

a) children living in villages

b) ininner city areas

¢) than do their counterparts

d) researchshowsthat

e) watch more television

(1) a),€), b);d), c)

(2)72)ye), ), d), b) .

(8) d)ya),e),¢),b)

(4).d), ), ©), &), b)

The letter 'o' in comic is pronounced
asthe'o'in'.......

(1) college

(2)- computer
(3) cork

- (4) cold

The horse is limping. It must have

Choose the correct option to
complete the sentence.

- (1) mane (2) hoof
(3) paw (4) claws
| him for his bravery and
honesty.

Identify the appropriate word to fill
in the blank.

(1) condemn

(2) admire

(3) content

(4) plead

P.T.O.
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" 81to84: Read the 'followin'g passage and answer the qges'tions:givgn below.

The proverb, 'Cowards die many times before their death' is extracted
from Shakespeare's 'Jhﬁus Cgesgr'.rThe complete forrh of this proverb is 'Cowards
die many times Before their death; the val'i.ant never taste of death but once.' |

Cé.esar utters this maxim when his wife Calpurnia pleads with him.not to -
go to tile Senate on that day as she fears that he may die. Caesar declares that
only cowards giv'e in to fear. One shc;uld not lose heart when one encounters difficult
situations in life. In sﬁch situations, one should gather all the forces at one's
command-and-i_:ry to overcome them. If a persdn gives up.in the face of adverse
conditions, he cannot ﬁrogre'ss in Iﬂ;e,\.as 1 6 is not abed.of roses. He or she should
face the problems squarely and find f ys to overcome them, as that is the only way

to become successful in life.

81. The proverb, 'cowards die many |'83. Caesar says, when one encounters

times before their death'is utfered difficult situations, ......

o) Identify the latter part of the above
(1) Shakespeare sentence. .

(2 Julius Caesa'r (1), he should give up hope

(3) Calpurnia (2) he should leave it to God

(4) The vail‘lant- person: (3) he should seek someone's help
82. Caesar's wife requests him ........... (4) he should not give up hope

(1m0t to go to the Senate 84. One should face problems squarely.

(2) go to the Senate Here 'squarely' means ..........

(3) not to die (1) surely

(4) not to lose heart @) bravely
(3) cleverly

(4) patiently

W-10/TET-111-EM/TM . . [16]



85. A student passés your test on

. 86

- is more effective than the other -

époken English but cannot speak .
English outside the school. Then

your testis not.......

"~ (1) valid -

@ reliable
(3) practicable
(4) scorable

The discourse-oriéni;ed‘ pedag.g;ogjT

methods because.............

" (}yit’ encourages a learner's

. autonomy.

@it discourages a learher's

817.

. W-101/TET-111-EM/TM

Inquiry
(3 it follows the béhaviorist theory
of learning |
(4) it -exﬁphasizes teaching rather
- than'learning |
The number of syllables in the
word, 'inteynatior;a]izaﬁo'n' 18 i "
(1) six
(2) nine
(3J seven

(4) eight

BOOKLET @

'8.8. The. fu'nction-b_a'sed' and task-

89.

[17]

(@ EFH

béntered app;'oa}ch is the ......
(1) structural approaqh

-(l»2). S-0-5 apprpach

:(3) communicative approach

4 situational approach

The activity of 'learners giving
directions to each other's home as
if they were going to visit each
other'is an examﬁle OF assiasninn

(1). dramatization

(2)-role-play

(3) simulation

" (4) situation drill "

Ideﬁtify the set of capital letters that

. have similar strokes/patterns.

(1) IMH

(3) AEM |

(4) THV | ;

P.T.O.
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MATHEMATICS
91. The value of 4—(7-6+2) is.......... 94. The average of ‘the" first 5
e consecutive even numbers and thé
=(7-6+2) o8, Jeds ... first 3 consecutive prime numbers
(1).8 2).2;, | 38 oo
7
(3) eac (40 200K H D% 050 HoBaiw Hukd 3
' o) 0 o9 SO0 ...
.. 92. Two pipes can fill a water tub in 5 1 4@‘;‘ POR®
‘minutes and 7 minutes respectlvely @
A third pipe can empty it in 3 (2) 4.75
minutes. If all three pipes are kept (3) 3.7
open simultaneously, then the part @ 5
of the tub that can be filled in one
minuteis ...... 95. The nur'nb_er of axes of symmetry of
oX G0 Dot Bopew w5, 7 anequilateral triangle are ..............
D006 DD, Bamess Se © B0 SO isesR FErgive Sowy ..
3 dDoped’ grd Datoens. & Bare, (@) 4
Sopeid 28 10 BV . Ddoises’ F36 (% 2
DL o ... @) 3
12 4) 1
@ 35 96. In a pie-diagram, differént values .
10 are represented by ......
@ 57 (1) rectangles
41 (2) squares
G ﬁ (3) circles
(4) sectors
4 i
@ 105 105 B OHoE’ DS DevwSd PG ...
93. . 80 apples are distributed among A4, (1) By wsotEres '
B and Cin the ratio 2 : x : 4. If both (2) Wt
A and Ctogether got 60 apples then
the value of xis .............. (8) e
TR
SOesbgmA,Bma:Z:x:zL ' o
° _ 97. One of the following pairs is a
2586 sown A $50ak» C o 505 60 . :
: ' co-prime. _ _
D6 508D SNH X VOIS v : ,
(1) 4 2 1 308 T36° 5t (eFd Sop ad ...
(& 2 4) 3 (1) 14,9 @9, 12
3y 27,21 . (4) 14, 16



‘98

y 2 a+5 \-8 |
5 5 2 :
1t (3] () ~(3): wonne

© valueof'q'is ............

s (%Ji(sJ‘.’*5-

)

@ 3 o
(2 -15
3 -1
41

A vehicle travels 14 kmé. in 25

- minutes. If its speed remams the

. same, then the dlstance travelled in

(2168 R PN

5 hoursis (in kms ) .........

2.§ ao.:o:s:m 25 Di)oieeés 14 &5,

Soiressoo Dovosso. ed 3o 5 Rowes® |

@mmméoschso .. )
180 -

o ow

" (3) 537

 100.

(4) 540

The length, breadth'and height of |

a room is 8 m;6 m and 5 m
respectively. Then the total area of

four wallsis (insq.m.) ............

W-I0UTET-111-EM/TM

o8 HB R, Bty SoBaias Dlages SIS
8 Do.y 6 2. 200K 5 . oD et
TS0 ﬁsﬁe:b%“eg‘é» (S.5. 95‘) ......... . |

o 120
() 240

(3) 140
(@) 280

101,

102.

103.
- remainders 5, 7 and 18 when

BOOKLET @

If the angles of a trlangle are in the

.ratlo 1:2:7;thenthe tnangle is..... :

(1) an acute ang]ed trlangle
(@) an obtuse angled triangle
(8) aright angled triangle

(4) an equilateral triangle

2% (©gbeo 6% ?mbaw 2pd1% 2 7

(1) .eaebssm CrLatrt) s :
2 o0 @gome, "

- (3) oot (©gbome

(4) SoEse @aﬁoa:c

If a bar-graph is drawn tolecm =10

units, then the. length of the bar '

representlng a quantlty of 52 umts -
is (in cms) ........ o '

2.5 500, Dy 1 20,2, = 10 arere &
fromtio e0020® 52 oi:.:‘bégc‘%’.‘-’.) w:aoagfa% ‘
to>~ SO o -
152

(2) 0.25

3) 2.5

(4 0.52

The least number that leaves the

: d1v1ded by 8 10 and21 respectlvely

- 8,10, 21e3gs=nonmm:sm5 m:aos»
T 18 wé‘é{mb%é;:);’a..oca:s ..... Geiens
- (1) 840 o

" (4) 804

[19]
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104. If 1—i+—4- =0, then the value of
x x2.
2 .
il - LR
x
; P +_42_ =0 e00d 2 e,
x Y
(1) -1
20
@1
1
@ 3

105.

W-101/TET-111-EM/TM

The car parking charges are given
as: _ _

a) Rs. 60 for 4 hours

b) Rs. 100 for 8 hours

&) Rs. 260 for 24 hours

d) Rs. 180 for 12 hours

Which one of the following pairs is

in proportion?

_m&%oﬁm&béoméahw; '

a) 4 fowe &». 60

b) .8 Kowe &, 100

€) 24 foweX B, 260

d) 12 fiowen &». 180
@oamaéaw% =

(1) a)andb)

(2) a)andc)
(3) b)and ¢)
(4Y a) and d)

106.

107.

108.

[20]

' BOOKLET @

'Bangalore Express started at 19.00

hours from Kachiguda and reached
Bangalore at 07.15 hours on the
next day. Then the time taken for
the joul:ney 18 cisaiies

(1) 12 hours and 15 minutes

(2) 11 hours and 15 minutes

(3) 10 hours and 15 minutes

'(4) 18 hours and 15 minutes

Boikerd D55 19.00iowse searres
woXeodd ot e 07.15 Koweks
DolErE B0 BSATPRR IS Two ...l
(1),12 . 15 ddokes '

(2) 11 %o.0 15 ddodped

(8) 10 rio.e 15 Adorer

(4) 13 Ko.o 15 ddopew

The base of a cylinderis............
(1) parabolic
(2) elliptical

" (3) circular

(4) semicircular

BiSE00 GB0K, G0 evvereens

(1) Sovdecirste

(2) Sgprse

3) PTse

(4) eyTse . .
If (4x)3 = 433; then the value of 'x'

(4x)3 = 4% eand, 'x dess........
(1) 48 '
(& 48
(3) 43
(4) 42



109.

110.

111.

W-101/TET-111-EM/TM

100 . . PP
If 99 18 written as a repeating and

nonterminating décimal fraction, |

then its periodicity is ..........

100
‘@‘QMDQ@WW

A man buyls a scooter for Rs. 4,700
and spends Rs. 800 on its repairs. If

he sells the scooter for Rs. 5,800, |

then his gain percent is...........

¥ 558 25 5005 &, 4,700 ©% &

- &, 800 08 8¢ Bowod &7, 5,800 0

4
(1) 4.-7'

5
(AF 5ﬁ
3) 10
@) 12

If the volume of a cube is 1,728

cu.cms., thenitsside (incms)is..........

2.8 P00 Y, Possosren 1,728

$59.250.00. £90a3% TR Zhessas (Do.Do.08%)

(1) 14
@ 12

By13

4) 16

112.

113.

114.

[21]

' BOOKLET e

The valueof 3.6-0.8 is..............

13 9
Thevalueof%ng'*—s— i ........

39,18 00
26 " 53 T 5.0 De

y 2
( ) 25 \
9
s
54
) 5
5
@ 33
If two sides of a triangle are 8 cm

and 11 cm, then its pbssible third

sideis (incms) ...........

@muoé‘aoc:mbMS::o.ha.
200050 11 20.00. oD SarsEd ghwo

- 2D (oD
) 4 3

2) 2

@3y 3
4 1

P.T.O.
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115.

The mathematician who first |
declared that.the approximate value |
of the constant ratio between the |

- circumference and diameter of a

circleis 3.1416is........ :
(1) Varahamihir =
(2) Bhaskaracharya ‘
(3) Aryabhatta

) Srinivasa Ramanujah

116.

" number line"

LT D RogROPR PIHEH BPIPES".

W-10 1!TET-111—_EMI‘I‘M

DYI0R, DY TGO Ko B AN
22000 Ve 3.1416 e Dok Mo

@y st

(-_4) BT TR

"Student shows 'fractions on a
. This specification
relates to the objective of .........

(1) knowledge ~

'(2) understanding - .

(_3) application
(4) skill

30 51 003 5000000 Hpes ... ...
(1) epdax

(2) essTeimd

(3). Da&TMe

(4) Pome

117 A perSon takes a loan of Rs. 10,000

118.

from a bank at 12% rate of 1nterest.
to purchase a motorcycle. If he wants -
to repay the loan after 3 years, how
much‘ amount has he to pay? The
method to be adopted to teach this
problemisthe...............

(1) deductive method

(2) analysis—synthesis method

" (3) problem solving method

(4) induetive method

25 SADTPL 236 TGS ergolty Wood
12% 556860 S 8, 10,000 e Sorso

B35, 3 Sopire oA ety BBy

dosAge DYoD?  Be BN
&ma&&aé‘mw G disan
(1) s 95 :

(2) ases- ::d%rmasw

3) m:ﬁ&fbbﬁégﬁ

(4) esod 558

The use of domino cards in the
Mathematics kit is that students

(1) write numbers

(2) do multiplicatidn

(3) draw parallel lines

(4) do addition and subtraction -

ek 3&56‘:3 o e é:sda;»noa

' [22]

(4) Soseise, Hsteso Bobey
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119. The type of questions suitable to

test -definitions and properties in
Mathematicsis............ |

(1) objective type

(2) short énswer type

(3) essay type

(4) very short answer type

Redes® dussaren, Hoyes SOYeRERS
(1) Spn0g Spes

(2) SofsSirord Sheo

(3) mystams (spes

(4) oRaxRers e

(23]
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120. The school Mathematics club

facilitates more for..............

(1) the teacher to improve his
professional competéncy

(2) the preparation of various school
records

(3) the teacher to complete the
syllabus in extra hours

(4) the students to clarify their
doubts in Mathematics

EPET Kok 53 et 5 S

(1) adgpauines &5 9B PR
Bodedow St

(2) SEem DB D OTeLes BARLD
DO .

(3) SMOPOIED XS Sdai0d® oD
0 BabERs

(4)-Dongipen ekt G Sedisterso Bty
Shond

P.T.0.



121.

122.

W-101/TET-111-EM/TM

: PART-V
ENVIRONMENTAL STUDIES ~ DOOKLET @ |

Locate the true statements with | 123. Number of umpiring officers in a
respect to a 'hinge joint'. ' Kabaddi T
A) It allows the forearm to bend IS '

forward only oo ese30 :Stsbﬁéo'é ST 30y ...
B) It allows the forearm to bend (1)a2 '

backward only .
C) It allows the knee to bend 2 4

backward only : (3) 6
D) It allows the knee to bend @ 8

forward only '

124. Identify the correct statements

Sotseots Sesks Soweod &+ 3ed TE

A) S00BE8 B0 PYIH  BREHN
Soelsed

B) 5200880 B0 S Solided

C) APTrend Do “PBN Hordieed

D) IrTresss S0 PHK BB

1 s

(1) B), )

(2yA), C)
3) D), C)

(4) B),D)

Identify the mismateh.

A) Incisors = biting and cutting
B) Canines ¢ grinding

C) Premolars - chewing

D) Molars . - tearing

BRI BBDEDLES TR T8RS,

A) T Soorey - S0 00w
S00k) eoRoias

B) Stomren - DiStow

C) SsoenSomren - Sdoex

D) Josonres - wed

(1) A),C)

2 C),D)

3) B), 0)

(4 B),D) -

[24]

related to 'cross-pollination'.

A) Occurs only in unisexual flowers

B) The pollen grains of the flower
can reach the ovule of the same
flower

C) Needs the help of pollinating
agénts | :

D) Seeds produced are often more
healthy than the
produced by self-pollination

seeds

SESOK  HosTAE  Sowodon SO

QOGN '

A) DEBoK Hes® ey etbioteed

B) :506% soo Seades, b 9ges™
LOTPT VSO

C) SO Hdodto 60D TrIres SiSfald
Semran

D) &1 IoFses® Mnds Deren, ST
BoNGo VO BTG Yo Kol
esE¥iom dowrond

(1) A),D)

(2 B),C)

(3)A), B)

4) €),D)



125

126.

- Deose

In the life history of a frog, the
hormone that initiates the process
of metamorphosisis..............

(1) Adrenaline

(2) Aldosterone

(3) Cortisol
(4) Thyroxin

55y 400 YOS, e DFAH (B@ako

Cac STy

(1) d&85 (2) es&RES

(3) 3‘9.3‘5 4 QO‘%)S

While running, the heartbeat speeds

up. The nervous system responsible

for thisisthe..........

(1) central nervous system

(2) sympathetic nervous system

(3) peripheral nervous system

(4) parasympathetic nervous
- gystem ' '

SEORBISYE, TS Hosven DR
SEIOTOD. éaés-ccq::?éés:ﬁ .......
(1) éc{_ﬁavc‘.bs‘:;:g

2 mma-&:ség

(3) S0hat> e s

(@) sogr SETE NSRS
127,

To control rats, one should add this
chemical to their bait.

(1) Zinc phosphide

(2)° 2, 4-dichlorophenoxy acetic acid
(3) Naphthalene acetic acid

(4) Indole butyric acid

ITEME, MK Sondeond
BAPOITR.

(128 >pé

2) 2, 4-B5 g, Mou3 esiivo

 (3) b’ 2538 ez

W-101/TET-111-EM/TM

(4) 3086 220308 estsnino

BOOKLET e

128. A doctor advised a patient to take

129.

citrus fruits regularly because the
patient is suffering from ............

(1) red rashes on the body

(2) crooked legs '

(3) swelling and bleeding of gums
(4) cough with sputum

B P, AWumdd o8O HeEw
TESebodm w868 B0 QUNTED,

(1) 3080 JER woipHen

(2) 0% BOAS Sy

(3) Pl Dbty e, B5o o
(4) 50,SHRES O

In the process of preparation of

‘cement, the products formed when

pulverized limestone and clay are

heated are...............

(1) calcium silicates and calcium
aluminates

(2) calcium silicates and calcium
bicarbonate

(3) ferrous silicates and ferrous
aluminates

(4) ferrous carbonates and ferrous
bicarbonates

B3ooen SrBE, PpoBE eowns
RS RTTOR B0 woBoRR B&

| (D-s°Qae DPSeoen S8 P oo

(25]

(2) s*8ae HBZene BoBakw Pk

EGeoe

(3) % HPdewen WAL PO

(4) DS E33e 5000tk PR BBy

P.T.O.



130

. 131.

132.

W-101/TET-111-EM/TM

. Itis found that in a particular area,

the proportion of atmospheric
nitrogen is found less. Identify the
reason. :

(1) More animals are present

(2) Ground water is more

(3) Plants bearing root nodules are

present abundantly
(4) Decomposers are less
TR0 SR SoEPrI, LE 6
E50206° B mudesedod. 833 e
Tes HGeoo.
(1) Do esoBPEITHGD
(2) grIsyEv0 Doy dod
(330 B snddes SO Daoyes Jpm
GTe

.(4) DOy SR BEHIT STHEN

The diseases communicable by air

(1) diphtheria, typhoid
(2) rubella, flu

(3) filaria, tuberculosis
4) conjunctlwtw malaria

(1) it is highly coloured

(2) it contains suspended impurities

(3) it contains sodium chloride

(4) it contains carbonates of clacium
and magnesium

[26)
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(1) o3 Dy Bol Goised

(2) o0& Boardudmesciran
(3) 8" Pisasoe S8 sowcd
(4) o&* Yoo 0k Dofyheioon

133. The minimum age limit for»election

to the post of a sarpanch, grama
panchayat member, mandal

.parishad territoriak constituency

(MPTC), and ‘member of zilla

parishad territorial constituency

(ZPTC)is .

(1) 18 years for grama ‘sarpanch

““‘and MPTC member and 21
. years for ZPTC member

(2) 18 years for all grama sarpanch,
MPTC and ZPTC members -

(3) 18 years for grama sarpanch, 21
years for MPTC and ZPTC
members

(4) 21 years for all grama sarpanch, ,

. MPTC and ZPTC members

S0yt S0k e ORGP SExe

DianSs0est> £ GOLEDONES K aliady

(1) 18 Son oo [0 38505 Sobakw
Sootse SONE AR 408; 21 Son
R SOND DOV BGORE

(2 18 Son o [ 36,05, Wotse $05E

(BB Sgiogtis B0 B HOXS
DD Sgeot0s

(3) 18 Son o0 [ oo, 21 Son e
Sootie SOSS (PO g WO
26 3035 SR g0

(4) 21 Sou & [0 5,05, Sooke $036 |
DB Bt B0 Boy 3056 |
(D03 Sgogo0s08



-134.

Ramaiah has a son and a daughter.

The daughter has a daughter. The .

relatibﬁship bétﬁgen Ramaiah's son
and daughterfs';rc-iéughter (-
(1) uncle — nieée -

2) gra‘ndfathe_a‘r;-— granddaughter '

3 brotherfm-law — sister-in-law

'(4) brother— sister -

OPoongs 2. S 00K 25 KBS,

&5 KBRSt oY B0 SoB. TS0

135.

SRttt Homotis 3o, KRB Bol; 1

| (4) o -

The area of Andbra Pradesh is
(1) 2,57,045%q. Kms.
(2) 2,77,504 sq: kpls.
(3), 2,75,045 sq.kms.

“(4) 2,70,455s4.kms. '

' eomﬁagmgbéé;éso

(1) 2,57,045 ©.8.5.

©(2) 2,77,504 ©.3:5.

(3)2,75,045 5.3.5.

. (4) 2,70,455 5.8.00.

. W-101/TET-111-EM/TM
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136. In the Braille script, the English

letter, "I" can be identified with

. which of these raised round marks?

[27)

137.

(1) Left middle and right top raised
~ round marks

(2) Left top and right middle raised

round marks -

(3) Left top and right‘top raised
round marks

(4) Raised round marks on the left
top and leﬁ; bottom

m@wqoﬁm@gm»"r'méas&p

STt BoX) SERTP K0oDHE.

(2) esio RS oty BoDAI0 WA NEE Bt
éﬁowbw

(2) it KA HBAL g:&n&:»c;s éq,as: :

o) e0
(3)- D530 AR 300 g';&mga_:aleaa@ |
H,e0 '

4y desseRiys BIE H000% BoBREE®

e‘si‘,r_)m%m
The shortest and longest days in a
year are ... o ot
(1) 21% March and 22“d December
(2) 21° June and 23" September
(8) 23" September-and 21%* June
(4) 22" December-and 21% June

2.5 BoNthytRd’ edBEnD 0ok ©d
Dy 5 9163 30080380 SORSTErRd . ...
(1) 57 21 5000k Ssowb 22

(2) &5 21 0053 powd 23

(3) 306 23 53005 &S 21
(4) &sowb 22 950055 &S 21

P.T.O. -



138.

For this reason, the Krishna river

flows towards the East.

(1) Malwa plateau is slightly

slanted towards the East.
{2) Malwa plateau is slightly
slanted towards the South.

(3) Deccan plateau is slightly

slanted towards the East.

(4) Deccan plateau is slightly

slanted towards the West.

B4 RO HPSB IR ([SHr0D
20 Prood’ Sesiied. '

(1) s St Somi SRt O

139.

W-101/TET-111-EM/TM

aotine

(2) 5o b SFodw edendd 90|

&otsi0

(3) 5%,5 boerdo Soan Bty T
&otieo :

(4) 55,5 brgrds S SEsts T
&0t :

In this year, our national anthem,

'Jana Gana Mana' was first'sung.

B S5050y508" 5 erdo Aso ‘e Ter

BESEoTe esenoweied?
(1) 1905 |
(2), 1911

(3) 1947

(4) 1950

28
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140. The statement that relates to

migrationis..............

(1 Naresh went to Dubai in 2005 for
employment and settled there.

(2) Ramaiah's family- goes to district
headquarters for labour workin
the wirlter season and returns to

* hisvillage at the outbreak of the
monsoon.

(3) Raheem went to America to
study higher education and |
returned to India after 2 years.

(4) Budege Jangam caste people of
Cherlapalli leave the village
before Sankranti festival and
return to their village in the

month of June.

| 30 S0 5eeeDOD TERD .orreeenns

(1) 585, &350 2005 Hons® soeras
DY) 0T HEIETED _
(2) orisootog  Eowowo. 2o
Sorswod® EPDEDS DY) STseo
Dogos Maros BORSID
(3) Bmo & WHesHo A0 39
2 S0l BRI JOEAINED SOR BT,
(4 Bg‘.’:gé's h) m&ﬁéoﬁo : &e%agw
SOEroBE By [FR00 HOD DY &0
Sr50s® SOR RN Do




141.

Réad the following statements :
i) Ghat roads are laid on hills.
ii) Metal roads save fuel.

. 1ii) Journey is comfortable on tar

roads.
iv) Laying cement
Inexpensive.

roads 1is

.' Identify the incorrect statements.

142.

i) ool

T+ (Bob TEF0eR Wked :

D) 35 Besoen Fotiep Moot

i) Dweod 85 oo resssd Sosiso
EEretn Dok
BopidoBn :
iv) 2530045 8% domersasss iy B D
BT ) erreasidy o8evod.

(1) 1), iii)

(1), 1v)

(3) i), iii)

(4) 1),iv)

Dhaka, the capital of Bangladesh, is
lacated on 90° East longitude. When
the time is 6.00 am in Dhaka, the

‘Indian standard time and
- Greenwich mean  time are
respectively .............

(1) 6.30 am; 3.00 am

" (2) 6.00 am; 2.00 am
" (3) 5.00am; 1.00 am

(4). 5.30 am; 12.00-midnight

,_zooﬁ;&%maq;va s 90° 5, Cgrosian

D Ko, GTE® Ssooioo &tio 6 fon e

QOSPE, 0GRS’ (DErelE S

B8k (ISDSE® ssocinaoey HHN® ...

(1) 6.30 am; 3.00 am
(2) 6.00 am; 2.00 am

) (3) 5.00 am; 1.00 am

W-101/TET-111-EM/TM

(4)/5.30 am; 12.00 55078

| 144.

129]
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143. These'- are the fundamental duties

and fundamental rights

respectively.

(1) Protect the environment; a
citizen can live in any part of the
country | '

(2) Seeking justice through courts
of law; a citizen can receive
education

(3) Protecting national'integration;
paying the taxes on time

(4) A citizen can follow any religion;

paying the taxes on time.

(EPHO0E Dioes D000k (PR Ty

TE.

(D) Sorgses 9065 w8 ot Bios®
2%, G oMoy

(2) Tenyre a‘_pm,so‘.iraaéﬂo&m 28
reiots> WEoPE w0 eSS0 ¥ dotioe

(3) =B SABB Toeoes; Hwost
SAnew Dot

(4) o8 o> BH BYD WY |
b&oﬁkgu;ﬁ?eoﬁ‘bﬁhwagomw

The earliest Europeans who came

to India for spices were...........

(1) Britishers only

(2) Portuguese and Romans

(3) Portuguese only

(4) Britishers and Greeks

Sotio mse S0 RS SRS BIYS (8450
S SO LSO LT .

(1) PRt Srgsdo

(2) Puxyficas oetd wo8ak SaoSen

@) FpfoToargd |

(4) DS T8 2000k (Ates |

P.T.O.
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145,

146.

The co-ncept of envirenmental
studiesis........... .,‘

(1) direction oriented |

(2) action oriented

3) kn-owledge oriented

(4) thought oriented

oy aaoegﬁa&ae
(2) BoREsERRe
(3 a0
(4) & B5200

The teaching of environmental

studies at the primary level aims at

- making a student to become‘a

prudent consumer. The princible
involvedinitisthe .........

(1) principle of child centeredness
(2) principle of conservation

(3) principle of elasticity -

- (4) principle of activity centeredness

(Sr5005 Franss® sorgities DL (558 dagtses
o &850, IPD  DUFEPARWBIND

DREFHIT B Bitio. BI gl &y

D onseeraxsressss
(1) 3 SoBys srgan

(2 w0 G

(3 30 s

“W-101/TET-111-EM/TM

(1) HosToBLys wmphn

147. The topics like 'changes in the

seasons and climates, measurement
of temperature and pressure of the
atmosphere' are best examples for
correlating between these subjects.
(1) Geograpy and the atmosphere
(2) Humidity and the atmesphere

(3) Science and Geography

-~ (4) Geography and the environment

HRDBRPOY  H0K®  TTHEmos
STBRHe”?, “ELIS D00k TEEHSe

- Bl SPesson ol TR0 &4 (800

wore B WTHoRoEEdd - V%D
GO,

(1) R Trigsion S0t EFistesnm
(2). S B BoBa TPEHLEE
(3) Degd 50 SO0 RO g

| (4) R0 A 080 oGSt

148.

The main purpose of learning

experiences isto............

(1) build a rapport between the
student and the content

(2) build a rapport between the
student and the teacher

(3) build a rapport between the
student and the classroom

(4) build a rapport between the

student * and the local
environment '
QIR (ST BRI ..ovvvenrens

[30]

(1) B3, DRSPS X 50T
eflentio

(2) do°8,  &eRgoNa0dd
S0 del entio

(3) doeg08, BXHD KOS Wi a%oaaoz;vaa
weloytio .

(4) dowggs, .3;35' STRCETIS B0
Syowcrryefientico

. Sy
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" 149. The preparation of a standardized | 160. Suspended judgment is a
testisbasedon............... characteristic of a person who
(1) objective based teaching POBSESBES ......ccrurrerrene
(2) content based teaching (1) future vision _
(3) type of the teaching-learning (2) reflexive thinking
material used ' (3) scientific attitude
(4) method of teaching adopted (4) reagoning and judging ability
Dorcly 38y oard A et 533 esgrto oPonunod HU¥ Bl
- T SO Wi &S ofee. B 93
() emeEa L -
C (2) DSEUrEroB B%5 (1) e85 ayad
| (3) &APRODD BRSO Mol (2) Soagp S S To 53
(4) esdeoDols BRTED (3)-igaio Depbiio B3
(4) oewdgys S0 Blipyie
Aragsadlio B3

W-101/TET-111-EM/TM (31] P.T.0.





